
N otes
(F*tr*l are the numbers thot you multipty to get

onother number (product).

Examole 3

,*ro{*

@orenumbersthot
Tha number itself .

ite Numbers ore numbers thot hsve more than two foctors.

Exomple

ore "skip-counting" numbers or "count by numbers".

Think about multiplication focts when you ore finding multipl

have only two foctors. The foctors ore 1 ond

The foctors of 15 are 1, 3,5, ond

15. 15 is a composite number.

Moke sure that foctors ore written
in order from leost to greotest so

that you do not forget ony foctors!

X2=6

,.),. = Product

Fr,ctor R .inbow,,

Help keep foctors in order
from least to greatest.
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The fqctors of 48
aret,2,3,4,6,8,
t2,16,24, ond 48.

I 12162448

Exomple 7
llx7

The multiples of 3 ore 3, 6,9,1?... Thot is 3X1=3 ,3X2=6,3X3=9

3X1=3
o
e
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3X3=9 3X4=L2eee eeeeeeo eooeeee oeeo

3X2:6oeeooe
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IyICC.4.OA.4 F-ind all t-actorpairs for a rvhole number i, tl,".org* t -f OO. n"*gnize tlrat a q&ole number is a multiple ofe*ch af its

rrors. Dstermine u,hethcr a given q'hole number in the range l*t00 is a multiple of a givet one-digit uumber. Determine lvltether a

*reryer whole nttmber in the range I -100 is prinle or colnprosite'

Ifi olhey words,..I can {ind all the facttr pairs ftrr a speciflt ilumber of 100 or lsss' I can

fintl the multiples of a specific f*ctor {tf lSCI or less}-

A factor pair are two nunrbers that are nri.rltiplied together to nrake a specific number. [ach nurnirr:r ilr a factor

pair rs callecl a factor. I can use rnultiplication tables/facts to help rne figrrne thei:r otlt.

Fq_l^gX,srytplg.: Wh*t ure o{l the factors lor 24? i can llst atl the nT ultiplicatiorr facts to figure aut the

factors: LxZ4 6x4
"Jx12 8x3
3xB 12x2
4x6 74xt

i only hav* to list sach factr.lr nrie i

tirfle so all the factors tor 24 *re'. 
I

--1,2r-r' 1:6 :!]l:4--- -- ]

I can als* find the multiple of any factar- All I

have to do is skip count by that factor. To find

all the multiples of the factor 3, I skip count by

3: 3, 6, 9,17, L5, 1.8, 2!,24,21 ,30

Anor!*r way_!q-tj,[.d*l4tlqf 5. i5 bv usin+le f.e-e1e.r-,ta!*.bq_w: List all the factors of 74
I

i t tirtud out all the factors and connected the factor pairs by a i

l!
I different line of color. ir-'-'-" j1. 2, 3, 4, 6, 8, 72, 24

,And,".that a prime number has tlnly tw'o factors: I
numller has trve or rilsre facfol's.
i tar-r nreke ar ar:'ay to :-,how that 7 is a primt* *umber:iiTff"i;i:T*

I also *nop.".tkat e $pecifie numhsr is I multiple fnr botlr of the f*etars i* a factor Bair
{that equfll that sp*cilic nnmber}
I can pici< a factor pai? and skip cor-rnt by e.lch nunrber to show that they share a multiple {the product when

ilre turg 6{,mbers are rrru[tipliecitogether]. For example: 3 x I is a factor g:air for 24' Showthat 24 is a tnr-rttipie

.,f hoih 3 ar:d B. r- -."'.-.--..-*_--_.--i

_ .kip csunt hy 3: 3, s, 9, 12, li, ij:3.1 24:7], 3a i-"r,*""*;;;r multipte ofboth3 andB. 
i-ii,.-,n 

I i.kip cnunt by 8: 8, 1.6,:..i4;'52, .l.ti, +9, 56, 64, 72,80 i".-----'- .*----'*l

and
i'

itself. I know thaf a compositc

[.,r", " 
o *u o* *'u, to

7x1 rnak* a rertangt-iiar array itrith

7 sriuiires: with 7 alrci i'i19 lrniy factors fr.rr 7 are 1 and itseit {71 1x7

24 is a eomposite number because it has iwo or more factors: 1, 2, 3, {i, 6, 8, 1?

Sorqe new [rl?th lvqrdg {Jlm usinq Witlr this-staudgnh s*nu o!rfee'sx *iu3 be tsriitr' ;rt*-.',:s

iU,uy , an arrarlgernent of objects in equal rows and coJumns. When figuring otfi t-tlctors, a rectangle shape

tilled qrith squarcs is used to makc the array.

(.omposi.tc number - a rvhole nunber that ha-q more than lrva fbctors. l'cr example l2 is a cc'tnpt-tsite nutnber

because its iactors are 1" 2" 3- 4. {\.12.

Igct,u - a whole mrmher that is mulripliecl to get a product $r one of the numt'ers in a multiplication prairletn.

ru, *iu*ple 3 is a t'actor that is rnultiplierl b-v 4 ianothcr lirctor') to gct a product of 1?' r\ lactor of a nutntrer

4ividc:s eveniy into that numhcr. 3 divides evenly into '12 and 4 also dividcs el'enly into 11.

I.actix*Alf - a unique pair of numirers t}-rat equals a specitic multiple. For exampie 3 asrd 4 are a tactilr pair l"o:

*f>.- f Z.lf 3 is muliiptied by any othff number tresides 4, the praduct r.vill not hc 1 2'

r\lultiple - thc protluct of tr+o tbctors (a rvholc number multiplierJ hy imother u{tole rluntb'er). Iior exfimpii: 1] is

a multiplc of 3 and it is a[so a multiple ol'4.

,__ rinre purEbgr - a numbei.rvith exactl-l.,tryo factors: I and itselt-. For examprle 2 is a prime nu-mber because no
'-other 

tactors diviile r.velily into it. "tr-he *nl3' tirctors fr:r 2 are I and itself {2}.

.EIgdU,X- the ansrver tc a niultiplicaticn problem.
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